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(I know the price of success:dedication, hard work,and an unremitting devotion to the

things you want to see happen.)

—F=T - FIRM - M (Frank Lloyd Wright)
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end of each conversation, a question will be asked about what was said
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—Both the conversation and the question will be spoken only once. After each question there will be a pause. During the

pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer.

1. A) She’s too busy to help the man today.
C) She’ll have time later on in the day.
2. A) The clothes don’ t look clean to him.
C) He can pick out his own clothes.
3. A) He should ask Tom to call the secretary.
C) There’s not enougH time to phone Tom.
4.A) He hasn’t time to do-the experiment.
C) The experiment tock him a lot of time.
5. A) Looking at some pictures. ’
C) Examining stolen goods.
6. A) The announcer should try not to sound nervous.
C) The plane will land at nine-thirty.
7. A) He was confident.
C) He lacked confidence.
8.A) He was ﬂl .
C) He was w;)rking for a lawyer.
9.A) Don’t use ice“éubes.
10. A) In a shoe store.
*x 10 A) Make arrangement for his pet
C) Purchase his tickets

v Answers

B) Lose some weight.

B) In a furniture store.

B) The proposal is already late.
D) She’ll finish the proposal by noon.
B) He doesn’t intend to get the clothes.
D) The woman should stop staring at his clothes.
B) He can’t use the secretary’s phone.
D) The secretary will leave before he does.
B) The experiment turned out well.
D) He did only part of the experiment that day.
B) Watching the view from the house.
D) Referring to a map.
B) The woman should get on the plane.
D) The woman should not worry.
B) He was comfortable.
D) He performed well in the interview.
B) He was teaching a lesson.
D) He was on a business trip.
C) Boil the water first. D) Be nice.
C) In a department store. D) In a bedroom.
B) Pick ap his passport ‘
D) Work out his travel plan

1. M: Would you have some free time to look at this proposal for me?

W:I’m kind of busy now. How does late this afternoon sound?

Q: What does the woman mean?

C) RHBNA. A)EI R :How does . .. sound? 4K F4/B 487 “late this afternoon” (T - HabrtE) R4

A EE, sound FEHREE, R “IER

...... "HIER

2. W: Shouldn’t somecne pick up the clothes from the cleaner’ s?

M: Don’t look at me!
Q: What does.the man mean?

B) MASSEE. Don’t look at me! XAEMN B I BERE  “RAEE".

3. M: I have to phone my secretary before we leave.

W:There’ s not much time, maybe you’d better get Tom to phone for you.

Q: What does the woman mean?

A) RHENGE, )RR you’ d better do something, BR“EIF...... o) -4:;
4. W: Was that the assignment given by Professor Brown? I don” t think you have much trouble doing that experi-

ment.,

M: No, but I didn’t realize it would take me most of the day.

Q: What does the man mean?

C) MR G- 2 546 MBI but 2J5, “ARVBERAEE ST RRER L — FIE .,

5. M: Where did you take this one? It’ s very nice indeed.

W: It’s San Diego. Look at how beautiful the bay is in the back ground.



Q: What are they doing?
A) S SR, RSB take, background (HH),
6. W:I wish the plane would get here. It’ s already nine-thirty.
M: There is no need to get upset. The announcement said it would be ten minutes late.
Q: What does the man mean?
D) MALASEE, BERREE upset (BHE) , HERTH worry £ 3,
7. M: Why did Pepper fail in the interview?
W If he had been more confident, he’ d have got the chance.
Q: What do we learn from this conversation?
C) ME BAEE, BHEBF M BEHIES I he had been more confident, he’ d have got the chance. R HI{t: 24
MAHEL AEFLSBRXRIEN, XETHEESN AR, EF5KRERHER,

: Nice to see you again, Peter. I hope you feel better.

w
M: I’ m fine now, but a few days later I have to work hard to catch up and I’ m afraid I’ Il be back in bed soon.
Q: Why was Peter away?

A

A) BROHERTEAL, R M B bu ZJEH0E, AR BRE R, LXZER X ERNIREK L.
B S HE BT At R A 8

9. M.:I never drink water without ice.
W: Don’t you think that’s bad for your stomach?
Q: What would be the woman’ s advice?
A) RS, AEI% :Don’ t you think. . .
10. M: The men’s shoes are on the third floor, right?
W No, they’ re on the second. The third is women’s clothes.
Q: Where is this conversation most probably taking place?
C) oS RRHY ., HERE 3521740 : The men’ s shoes, on the third floor, the third, women’s clothes.
BEEFEE R AN ERERA,
*10. W: You must be thrilled about your trip to Australia. When are you leaving?
M: In a fortnight. But there are still a few things I need to do before going.
W Like what?
M: Like renewing my passport, going to the travel agency to buy my plane tickets and figuring about what to do
with my kitten while I am away.
Q: What does the man have to do at the travel agency?
OFRTHM. £BELM—KBREEFETERNELER going to the travel agency to buy my plane tickets,
HELERN C,

Part || practice in reading i & % 3

W% R AR IR

SR RERE T M E BN BE R P AT LU BRSOk, S FHE S BB RHES |, BT AR 0B B L, A

FERAP RN

1. £ 120 BBt ] o, BB ARER 43 &5 35 404,

2. BARERMAE G B 40% , BT WAL B2 H .

3. REEEM TR, HERR KT E , S 2 4

4. PITEERMARESS IR A RN 1000 B 1200 44, RENM KRBT XFEMREL WiAHBREEN—TRAE.

FHENREFTHRAES ETURBRNEERES BRETMEN. NiEERRAELHEE LG T

“ 3.



BRI ERS, BRRRERENNERELER,

i}
’ Exe'"Cisesfi
- N“””mm‘f

Directions: There are 2 passages in this part. Each passage is followed by some questions or unfinished state-

ments. For each of them there are four choices marked A) , B) , C) and D). You should decide on the best choice.

g Passage |

One of the major problems of nuclear energy is the inability of scientists to dis-
cover a safe way to dispose of the radioactive wastes which occur throughout the nu-
clear process. Many of these wastes remain dangerously active for tens of thousands
of years, while others have a life span closer to a quarter of a million years. Various
methods have been used to date, but all have revealed weaknesses, forcing scien-
tists to continue their search.

The nuclear process involves several stages, with the danger of radioactivity
constantly present. Fuel for nuclear reactors comes from uranium ore, which, when
mined, spontaneously produces radioactive substances as by-products. This charac-
teristic of uranium ore went undetected for a long time, resulting in the deaths, due
to cancer, of hundreds of uranium miners.

The United States attempted to bury much of its radioactive waste material in
containers made of steel covered in concrete and capable of holding a million gal-
lons. For a long time it was believed that the nuclear waste problem had been
solved, until some of these tanks leaked, allowing the radioactive wastes to seep in-
to the environment. Canada presently stores its nuclear waste in underwater tanks,
with the long-term effects largely unknown.

However, plans are under consideration for above-ground storage of spent fuel
from reactors. These plans include the building of three vast concrete containers,
which would be two stories high and approximately the length and width of two foot-
ball fields. Other suggestions include enclosing the waste in glass blocks and sto-
ring them in underground caverns, or placing hot containers in the Antarctic re-
gion, where they would melt the ice, thereby sinking down about a mile. This idea

has been abandoned because of the possible adverse effect on the ice sheets.

1. nudlear adj. % FH, EFRER

2. inability n. T8, XH

3. radioactive adj. WETHERY, B
FHBR

4.involve v. 4% ,{F...B&T

5. radioactivity n. J§IE

6. reactor n. L

7. uranium n. 4

8. spontaneously adv. EIfRHL, AHEHE

9. substance n. ¥, %

10. characteristic adj. %% B n.
R, RRE

11. material n. £}, [l adj. B
Bah, SRR

12. concrete adj. AT n. BT
v. FRREELEBR
13. capable ad;.
14. approximately adv. iE {1, KX
4

15. antarctic adj. FEARAY, IR
Giid:] )

16. abandon vt. J{F, B HF n. B
£, EH

17. adverse adj. ARF|H, ey,
K

HREAW, T

1. It is implied in the passage that the primary difficulty in seeking a safe way 1o dispose of nuclear wastes is caused by

A) the nuclear process involving the danger of radioactivity at its every stage
B) fuel for nuclear reactors producing dangerous wastes
C) the weakness scientists have found in every previous methods
D) the nature of nuclear wastes together with their lengthy life span
2. According to the passage, uranium ore is very dangerous because
A) it produces radioactive substances aftér it is dug out
C) the mining of it produces dangerous by-products
3. According to Paragraph Two, scientists failed to
A) discover the characteristic of nuclear process
C) save the life of uranium miners
4. Hot containers of nuclear wastes to be put in Antarctic region would

A) remain above ice sheets

o4

B) it has caused deaths of many miners

D) there is a problem in mining techniques

B) discover the nature of uranium ore

D) store nuclear wastes in underwater tanks

B) be safe to environment



C) be highly probable D) remain under sea
5. The best title for the passage might be

A) Scientific Approach to Dispose Of Nuclear Wastes B) Process and It Nuclear Energy and Public Safety
C) Uranium Ore and Its Characteristic D) Nuclear Wastes
\ P Answe

LD EXENE BB EE SRR EEREZ R EZIRARELN L BB ETE
A TR B R i s B R B X — R R —— e R AR B K B A — L
FHEEFHBE_ RIS, Bl %D,

C EXEMB_BP EENE TRLEENENHE—R  EX KBS, 47 c BAEREREN
EEBIER A RN 7 EAE VB G B YR, X R A R, 8k C.

B MXEME BRI UEERIIEE,

D ERE—BMEERSHN TR TLEEERNEN: P2 RS RN B EE R X, A
HHAREKERL, ERSVIABR—KELSR . FTURE D,

\ XEF-BRRIBERNAEE LG EBAEE RS ™ E MR, RIEE TR REK
HTEBRE B Bk B A A TR AR AR a7 R S R AR s CER B E
ERAT AMEEERR M RWSRAFH R, B BT RS A RIERER

ITEES

M ERRZEREEAEE, EEMBERITERARI - RZLN T ERLBZERAT, ER

TSRS BRI KR E AN BORERAR BB MEE . JEHIRE T B R B

o ST

This characteristic of uranium ore went undetected for a long time, resulting in the deaths, due to cancer, of hundreds
of uranium miners. g Feoeee- S
i|f %% . The storm lasted for a long time, resulting in his absence, due to the cancellation of the airplane.
BRE R TR 8], BUEBUY T, B A 2,
E§ . Passage :_ ; :omg)etition n..ﬁ%, X3
. detrimental adj. B EH

[

o

wh

Professor Kline concludes that competition with research in the university is so 3. physically adv. Si I#th
detrimental to teaching that he recommends that the two functions be physically and 4. financially adv. WBLE, GRL
financially separated by setting up research institutes. I suggest that the develop- 5. institute n. 35y, SEBE, P vt
ment of a sound program of educational research would be much more beneficial to Qisr, e, #E, F0RGRE),
teaching. Such a program would not only improve teaching theory and technique, it B (FE)
would make clear what competencies are required of a good teacher and help profes- 6. beneficial adj. 22 HY
sors attain them. Educational research should be required to meet the same stand- 7. inevitable ad). A T3 549
ards as scientific research, but it cannot be raised to those standards without com- 8. upgraded v. ¥k, i (&
parable support and commitment. 9. complexity n. R (#), HA

Competent educational research is no more a part-time activity than competent K]
scientific research. The relatively trivial educational research so common in the uni- 10. technology n. TZ, BHE, HA
versities is an inevitable consequence of trivial commitment by the universities. 11 instruction n. 7%, fEELH
Rather than be little such research, the professors have an obligation to see that it 12. fusion n. fEfL. M. HA
is upgraded. Let no one think that educational research is easy; it is concerned e

with no less than unraveling the complexities of the human mind. There is no rea-

son to believe that an effective theory and technology of instruction is any easier to



achieve than controlled nuclear fusion. It is certainly every bit as worthy.
6. Professor Kline believe that competition with research in the universities
A) leads to the establishment of separate research institutes
B) should not be encouraged unless separate research institute is set up
C) functions well in the universities
D) is financially unsound
7. The author wants to improve
A) research. institutes B) development programs
C) educational research D) part-time activity
8. The author believes that scientific research
A) is not necessarily more difficult than educational research
B) has standards that educational research cannot attain
C) is trivial compares to educational research
D) must be relegated to a part-time activity
9. According to the author educational research

A) is relatively easy B) is quite complex C) is often trivial D) should have lower standards
10. Educational research in most universities today
A) receives adequate support B) is no longer a part-time activity
C) is easy to achieve D) needs more commitment

Answers

6B BB —ETH,Kline BIBHUNLS R, EAF BHE SHPFNRES M BERE FN, HEIGELTR
SRS B T SR B RS RETE AL I B B 20 JF . BFLL B RIEBER.
7.C AEXEFBRITREFENEEFFTIRRY LIRS AN, FL L PS8 REEMAY. H%E?
B, EFRARFELTHHEEMREEHERMSR
8. A XEMBFE=AEANABEUABBEFHRESTHN, FHEARE R B4R RBUE R
BABALEEEREES .
9.B. &F LEBMER,
10.D WEXEHREID ESHERFEENHELVMRTEEZHIRGNRHE,
IRER.

AXFETEHRBFSHEZHMXR, Kline HBANB SBFENRSMNHERE FN, MEZE AR
ERES M EFRMALE YN, HEXOMARKPELZY, N LA TREEHNER, M58 RRASEER
#o
’}g 5 ﬁ a H
Competent educational research is no more a part-time activity than competent scientific research.

(AL e —BER
If5%% . You’ re no more capable of speaking Chinese than I am.

HRBR AL IRE

Part ll grammar focus i ¥ 1§ E
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BOURKHBA7 5 P RAR AR, BRFHERARRE L EERILES . RHFE, KBH F LK
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Ol L EABESEAERE 2 SR RABE 3 IR EEE B EAR,
BFEEENXBRERE S N GEWRBEETMNER)  AEHEEPIREER, BE5HNNEEHIRH
X, .
I harder at school, I would be sitting in a comfortable office now. (02/12/35)
A) worked B) were to work C) had worked D) were working
RIS LUE X RE S RN RSN, IPETEENSEMBEIESE, BETREIFREE, —R
A AE HATE A X, LT AR T - -would be sitting, I A I E X R —HIEELRHFWERLESE. BF
KARB/NL—RT L IRE E A would + ZHRIFIE , A F B — RS 8 — R R B HUE S, DI Bk A) 5
B)T., BREEW—E? WRAUEEED FE M now” ,JEER M I “at school” , BT LA X & — M &REt
F &R, ERRNERRZC),
MEERFHERBEEILE: (FHEENESRARLEELRT))

BRAGES" """ [AElEshA" | ‘EMECCT | ARENETT | RiEAE T FiE-2C
BT e " B R T FrRAR T




HASERE, MESHRERRNEBYSE, AEEELDBREVERNBEIRETEA.
(To do an evil action is base;to do a good action,without incurring danger,is common e-

nough.But it is part of a good man to do great and noble deeds though he risks everything.)
—SiET5 (Plutarch)
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&:’:‘:} Directions: In this section , you will hear 3 short passages. At the end
of each passage, you will hear some questions. Both the passage and the
questions will be spoken only once. After you hear a question, you must choose the
best answer from the four choices marked A), B), C) and D).

. Passage ]

1. A) A rich farmer who had always lived in the country and had never visited a big
town won a lot of money.

B) A poor farmer who had always lived in the country and never visited a big
town lost a lot of money.

C) A poor farmer who had always lived in the country and had often visited a big

town won a lot of money.
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D) A poor farmer who had always lived in the country and had never visited a big town won a lot of money.

. A) Take a trip to the mountains.
C) Move away from the countryside.
. A) On your arm.

C) On your lap.

. A) Talk to the customer.

C) Ask for a haircut or shave.

. A) Iron. B) Copper.
6. A) The watches hung from their belts.

C) The watches hung from their neck.
. A) Because they have a smooth surface.

C) Because they are very expensive.

. A) Directly from the sun.
C) From energy stored by the sun.

B) Take a trip to the seashore.
D) Go to a foreign country.

B) Around your neck.

D) Tucked into your shirt.

B) Order out.

D) All of the above.

s Passage

i
i
i

C) Gold. D) Lead.
B) The watches were carried in their pockets.
D) The watches were carried in handbags.
B) Because they are very hard.
D) Because they turn very well.

¥ - Passage '

B) From the sun’s activity.

D) From radiation of the sun.

. A) The largest part of the radiant energy directed toward the earth is stored by the current season’s plants.

B) The largest part of the radiant energy directed toward the earth is turned into fuel.

C) The largest part of the radiant energy directed toward the earth is absorbed by the earth’ s atmosphere.

D) The largest part of the radiant energy directed toward the earth is used for electric power.

10. A) Nearly all.

C) A very small proportion.

x8.A) 8 B) 200,000,000
*x9. A) Turkey protection

C) American turkey industry
*10.A) at home B) in the zoo

\f Answer

A poor farmer who had always lived in the country and had never visited a big town won a lot of money, so he decided

had tied his table napkin round his neck.

The-head waiter was annoyed at this immediately and told one of the other waiters in the restaurant to go to the man to

The waiter went to the farmer and said in a friendly voice, “Good morning, sir. Would you like a shave, or a hair-

cut?”

B) About half.

D) All that comes from the sun’s outer layers.
C) 260,000,000 D) 2,000,000,000
B) American farmers who raise turkey
D) Turkey export

C) in stores D) on farms

Cmdll

g Passage

that he could now afford a holiday in an excellent hotel by the sea.
When lunch time came on his first day there, he decided to go and eat in the restaurant in the hotel. The head waiter

showed him to his table, took his order and went away. When he looked at the farmer again, he had a surprise! The farmer

inform him, without being in any way insulting, that people did not do such a thing in restaurants of this quality.

Questions | to 4 are based on the passage you have just heard.

1. Which of the following is correct?



2. What did he decide to do after he won the money?

3. Where should you place your napkin?

4. What don’ t you do in restaurants of this quality?

Notes :

1.D) APk, WEXHE—B, A poor farmer who had always lived in the country and had never visited a big

- — RN F AR EL DRI

2.B) 8, WIESCE—ER. ... so0 he decided that he could now afford a holiday in an excellent hotel by the sea.
Bt LA At BUAE BEFE MR IR R T

3.0) e RE. ALEIR, BRD, BNRARE L.

4.C) EEHEME., WIESCE B, Would you like a shave, or a haircut? {4558 T A LS s 3R B ik, BT LKl
B T XA

s~ Passage []]

Watches, which are really small clocks, were first made during the sixteenth century. The earliest watches were made
of heavy iron, and people wore them hanging from their belts. Little by little, watches were made smaller so that they could
be carried more easily. The invention of the machinery for the mass production of these parts of clocks and watches was an
important step in making clocks and watches available to the general public. In some watches, small pieces of precious
stones , such as rubies or sapphires, are used at the points on which the wheels turn. Since these stones are very hard, they
do not wear down very easily under the friction of the moving wheels. Thus a watch utilizing such stones will keep accurate
time over a much longer period than other watches.

Some modern watches can measure very small fractions of time. These watches are useful in timing athletic events.
When a button is pressed on these watches, a special second hand begins to move. This type of watch enables us to tell ex-
actly how long it takes a runner, for example, to cover a certain distance. Doctors and purses use watches with second
hands to count a patient’ s pulse. It would be difficult to imagine the world of today without clocks and watches.

Questions 5 to 7 are based on the passage you have just heard.

5. What were the earliest watches made of?

6. How did people wear earliest watches?

7. Why can precious stones help watches keep accurate time over a longer period?

Notes :

5. A) MY, RESCHE—EBFF L, “The earliest watches were made of heavy iron” , AT HEHI1ER.

6. A) i, WIECH—EL, “people wore them hanging from their belts” , AfJIEZRHEEEWN £,

7. B) MR, RIESCE B, “Since these stones are very hard, they do not wear down very easily under the fric-

tion of the moving wheels. Thus a watch utilizing such stones will keep accurate time over a much longer period

than other watches” , B NS AR, REEEIMR., IUEGFERLINFEEGEK.

8. Passage [J]]

All the useful energy at the surface of the earth comes from the activity of the sun. The sun heats and feeds mankind.
Each year it provides men with two hundred million tons of grain and nearly ten million tons of wood. Coal, oil, natural gas,
and all other fuels are stored-up energy from the sun. Some was collected by this season’ s plants as carbon compounds.
Some was stored by plants and trees ages ago.

Even waterpower derives from the sun. Water turned into vapor by the sun falls as rain. It courses down the mountains
and is converted to electric power.

Light transmits only the energy that comes from the sun’ s outer layers, and much of this energy that is directed toward

+ 10 -



